DISCUSSION 4
In the following multiple-choice questions, please indicate the correct answer.

1.
In testing the hypotheses 
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the following information is known: n = 64, 
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= 53.5, and 
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 = 10. The standardized test statistic equals:

a. 1.96

b. –2.8

c. 2.8
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d. –1.96

2.
In testing the hypothesis
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if the value of the test statistic equals –2.42, then the p-value is:

a. 0.5078

b. 2.420

c. 0.9922

d. 0.0078

3.
In testing the hypothesis
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 if the value of the test statistic equals 1.75, then the p-value is:

a. 0.0401

b. 0.0802

c. 0.4599

d. 0.9198

4.
A professor of statistics refutes the claim that the average student spends 3 hours studying for the midterm exam.  Which hypothesis is used to test the claim?

a. 
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c. 
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d. 
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5.
A spouse stated that the average amount of money spent on Christmas gifts for  immediate family members is above $1200. The correct set of hypotheses is:

a.  
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c.  
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d. 
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6.
The rejection region for testing 
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at the 0.05 level of significance is:

a. |z| < 0.95

b. |z| > 1.96

c. z > 1.65

d. z < 2.33

7.
The rejection region for testing


[image: image30.wmf]³

m

:

0

H

80


[image: image31.wmf]m

:

1

H

< 80

at the 0.10 level of significance is:

a. z > 1.96

b. z < 0.90

c. z > -1.65

d. z < -1.28

 Based on the Nielsen ratings, the local CBS affiliate claims its 11:00 PM newscast reaches 41% of the viewing audience in the area. The researcher wishes to find out whether the above claim is valid.   In a survey of 100 viewers, 36% indicated that they watch the late evening news on this local CBS station.

 

8. What is the null hypothesis? 
  

9. What is the alternate hypothesis? 
 
 

 10. What is the sample proportion? 
 
11. What is the critical value if ( = 0.01? 
 
12. What is the z-statistic? 
 
13. What is the p-value? 
 
14. What is the critical value if the level of significance is 0.10? 
 
 
15. What is your decision if ( = 0.01? 
A. Fail to reject the null hypothesis and conclude the newscast reaches about 41% of the audience.
B. Reject the null hypothesis and conclude the newscast does not reach 41% of the audience.
C. Fail to reject the alternate and conclude the newscast does not reach 41% of the audience.
D. Reject the alternate and conclude the newscast reaches about 41% of the audience.

A random sample of 400 peaches is examined and 50 are found to be defective. Can we conclude that the true proportion of defective peaches in the population is more than ten percent?  

 

16. What is the null hypothesis? 
 
 

 17. What is the alternate hypothesis for a one-sided test? 
 
18. What is the critical value for ( = 0.025? 
A. 1.96
B. ( 1.65
C. -1.96
D. -1.65

19. What is the sample proportion? 
 
 

 20. What is the z-statistic? 
A. 0.025
B. 0.278
C. -1.65
D. 1.67

 

21. What is the p-value? 
A. 0.0250
B. 0.4525
C. 0.0475
D. 0.0500

 

22. If ( = 0.025, what will be the decision? 
A. Fail to reject the null and conclude the defects are not greater than 10%
B. Reject the null and conclude the defects are not greater than 10%
C. Reject the null and conclude the defects are greater than 10%
D. Fail to reject the null and conclude the defects are not less than 10%

  

 The mean gross annual incomes of certified welders are normally distributed with the mean of $20,000 and a standard deviation of $2,000. The ship building association wishes to find out whether their welders earn more or less than $20,000 annually. The alternate hypothesis is that the mean is not $20,000.

 

23. If the level of significance is 0.10, what is the decision rule? 
A. Do not reject the null hypothesis if computed z lies between -1.65 and +1.65; otherwise, reject it
B. Do not reject the null hypothesis if computed z is greater than 1.65; otherwise, reject it
C. Do not reject the null hypothesis if computed z lies between -1.96 and +1.96; otherwise, reject it
D. Reject the null hypothesis if computed z is below -1.96; otherwise, reject it

 

24. Which of the following is the alternate hypothesis? 
A. ( ( $20,000
B. µ( $20,000
C. µ < $20,000
D. µ = $20,000
  

25. If the level of significance is 0.10, what is the critical value? 
A. 1.65
B. 2.58
C. (1.28
D. (1.65

The mean weight of newborn infants at a community hospital is 6.6 pounds. A sample of seven infants is randomly selected and their weights at birth are recorded as 9.0, 7.3, 6.0, 8.8, 6.8, 8.4, and 6.6 pounds. The researcher wishes to find out whether the above claim is valid.  
 

26. The null hypothesis is 
A. µ = 6.6
B. µ ( 6.6
C. µ ( 6.6
D. µ > 7.6
 

27. What is the alternate hypothesis? 
 
 
28. What is the degrees of freedom? 
 

29. If ( = 0.05, what is the critical t value? 
 
  

30. What is the sample mean? 
A. 6.6
B. 7.6
C. 1.177
D. 2.447

31. What is the sample variance? 
A. 1.177
B. 6.6
C. 1.385
D. 7.6

32. What is the sample standard deviation? 
A. 1.177
B. 6.6
C. 1.385
D. 7.6

33. What is the t-statistic? 
A. 0.2248
B. 0.248
C. -2.248
D. 2.248

34. What is the decision for a statistical significant for change in average weights at birth at the 5% level of significance? 
A. Fail to reject the null hypothesis and conclude the mean is 6.6 lb.
B. Reject the null hypothesis and conclude the mean is higher than 6.6 lb.
C. Reject the null hypothesis and conclude the mean is lower than 6.6 lb.
D. Cannot calculate because population standard deviation is unknown.

35. What is the decision for a significant increase in the average birthrate at a 5% level of significance? 
A. Fail to reject the null hypothesis and conclude the mean is 6.6 lb.
B. Reject the null hypothesis and conclude the mean is lower than 6.6 lb.
C. Reject the null hypothesis and conclude the mean is greater than 6.6 lb.
D. Cannot calculate because population standard deviation is unknown.
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